GEARWRENCH

Item # 83264

USE AND CARE GUIDE

30" XL SIDE CABINET ) 2

Safety Information

1. To reduce the risk of injury, please read and follow
the safety instructions below before assembling and
using this product.

CAUTION: Be careful during assembly. The
product may become unstable and tip, which
may cause personal injury or product damage.

>

2. Two or more people are required for the assembly of
this product.

CAUTION: Keep the product on level surfaces.
The product may become unstable and tip if
stored or moved on an unlevel surface, which
may cause personal injury or product damage.

3. Use the brakes when this product is not being moved.
This prevents the product from rolling.

>

4. Do not tow the product with power equipment.

5. Do not alter this product in any manner. For CAUTION: Lock the door before moving
example, do not weld external lock bars or attach this product. The door could come open and
electrical equipment make the product unstable, which may

quip ) cause personal injury or product damage.

>

6. Before locking the side locker, ensure there are no
obstructions in order for the door to completely
close and lock bars to work properly.

CAUTION: Do not attach or mount this product

to a vehicle or mobile trailers. This may cause

personal injury or product damage. Mounting this
product to any vehicle or mobile trailers in any
manner will void warranty.

CAUTION: Do not stand on this product. You
may fall which may cause personal injury or

product damage.

10f8



Package Contents

HARDWARE INCLUDED

@ NOTE: Hardware not shown to actual size.

of the unit.

@ NOTE: The keys are taped to the door outside

__BB

Part Description Quantity Part Description Quantity
A Locker 1 AA Hexagon socket head cap bolt (M8) 22
B Swivel caster 2 BB Washer (M19) 22
cC Support base plate 1
DD Hex key 1

20of8




Assembly

Side Locker is designed to attach to either side of the 72 in. 17-Drawer Workbench with or without the Hutch.
- If mounting to the RIGHT side of the Workbench, then proceed to Step 1.

- If mounting to the LEFT side of the Workbench, then the door is in the correct position and skip to Step 2.

- If mounting to the BOTH side of the Workbench, then proceed to Step 1 & Step 2.

Opening
direction

Opening \

direction

'

purposes only, and not required for the installation

ﬂ NOTE: The 72 in. Hutch is shown for illustration
of the 30 in. Side Locker.

CAUTION: Two or more people are
required for assembly.

\ =

1 Installing Locker to right side of Workbench

O To flip the door to the Locker (A), first secure the door in the “open” position on a small block to help keep the door level.
o Remove the door by removing the 15 Phillips head bolts inside the hinge of the Locker (A). Flip the door and
re-orient to the other side. Then re-install the door with the 15 Phillips head bolts along the hinge located on the right

side of the Locker (A).
O Ensure the door is level and centered in the opening before tightening the 15 bolts.

Opening
direction

S/

30of8



O Remove from the Workbench, the side handle, rubber grommet, 2 power cord storage hooks, power outlet and holder.

O Remove the Power outlet from the Workbench by removing the 6 Phillips head screws from the outlet panel cover and gently
pulling the Power outlet and the holder out of the cabinet. Be careful when pulling the cord through the grommet to avoid
pinching and damaging the cord. Once the cord plug head is pulled through, then remove the exterior rubber grommet on
the right side.

O The right side of the workbench should be free of any obstructions to install the Locker (A).

Remove

2 Attaching the Casters

O Be sure the door is locked and lay the Locker (A) down.
Use packaging material to protect the finish.

O Attach the swivel casters (B) to the outer side of the Locker (A),
by inserting 8 M8 Bolts (AA) and washers (BB) through the swivel
caster (B). Use the Hex Key (DD) or 12mm socket to tighten the
bolts to the bottom frame.

Note: If assembling Locker (A) to the left side of the Workbench,
then casters will mount to the left side.
If assembling Locker (A) to the right side of the Workbench,
then casters will mount to the right side.

4 of 8



3 Attach Locker Support Base Plate

O Attach the Support Base Plate (CC) to the bottom of the Workbench by inserting 5 M8 (AA) and washers (BB) through
the Base Plate (CC). Use the Hex Key (DD) or 12mm socket to tighten the bolts to the bottom frame .
Note: If assembling Locker (A) to the left side of the Workbench,then Base Supported will mount to the left side.
If assembling Locker (A) to the right side of the Workbench,then Base Supported will mount to the right side.

CAUTION: Do not turn over the 72 in. 17-Dr. Workbench for the installation of the Support Base Plate.

' ~
CEARWRENEY z

O Move and align the Workbench adjacent to the bottom of the Side Locker (A) and lock ALL wheels of the Workbench.

O With 2 or more people, gently lift up the Side Locker (A) to fully seat on the Support Base Plate (CC) to maintain balance.
Then bring the units flush together ensuring proper alignment of the bolt attachment holes. Once aligned, lock the 2 Swivel
Casters (B) on the Side Locker to prevent from moving.

CAUTION: Do not push the side locker at this time

to prevent tipping. Lock the caster wheels on the
Workbench and Locker to prevent moving. Perform
this step on even floors to ensure alignment.

(

)

M
/ T EEARWRENCH J

®/0

®/C

50f8



4 Attach Side Locker

On the inside of the Side Locker (A) use 9 pcs M8 Bolts (AA) and Washers (BB) to attach to the Workbench, and Hutch.
Only 6 M8 Bolts (AA) will be used if installing to the Workbench without the Hutch.

Do not fully tighten until all bolts are installed.

Ensure the front and top edges of the Side Locker (A) are flush with the Workbench and Hutch, then securely tighten
all Bolts (AA) with 12mm socket.

Ooooao

=" u (

AA @

EEARMIRENCH J

| T s + - CE

s ® o
o|® o [}

5 Adjustable Height Sliding Trays

To adjust the height of the sliding trays:

O Remove by fully extending the empty tray.

O Push up on one slide release lever while pulling down on the other release lever.
O Gently pull the tray outward until it releases from the outer slides.

6 of 8



O Remove the Phillips head shipping screw at the front of the outer slide. This screw can be discarded as it’s not needed

for the tray operation.

O Push up at the front of the slide and then pull straight out to remove the outer slide from the Locker side wall. Repeat

this process for the other side.

O At the desired height, re-install the outer slides by pushing the rear clip into the back channel support, then pushing
the front clip down into the front support. Repeat this process for the other side. Ensure the slides are properly seated

and level.

Tray

O Fully extend the slides out and gently insert the inner slide brackets of the tray into the outer slides, being careful they

are properly aligned.

O Once properly inserted, completely close the tray to set the slides in their proper position and lock into the soft close

mechanism.

o
Step 1 a

Tray

7 of 8



Maintenance

1 Caster maintenance 2 Drawer maintenance

o Lubricate the slides semi-annually.

o Grease the casters annually using high-quality
bearing grease.

Care and Cleaning
Periodically clean the drawer fronts, drawer trim, and other surfaces with a mild detergent and

water.
Auto wax preserves the storage unit’s luster finish and protects against scratches. Apply the wax as

you would on a car.
Remove grease and oil with a standard nonflammable cleaning fluid.

O

For damaged or missing parts, please call 02 6021 6666.

8of 8



